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1.3 o, | &1 U awatas o €, a@

-

0 +0?

(@) V3
(b) 2
(c) 1

4
(d) el

HAF TS ?

L¥Ed 0, 1,2, 3,4 3R 5F (VS H
T& 9R) ST 6 6 il arelt wEt
ferait dead s o Gt € S 6 @
ST B ?

(@) 96
(b) 120
) 192
@ 312

.MEd wE 1011 & g fg-smawt
e T R 7

(@) 1011

(b) 111011
(c) 11111001
(d) 111110011

4. W AT 4 TF 3x3 Hife & JE @
IR |4]|=4 B | 3 |2 adj(34)| = 223F
®, W (a+B)H AH | R ?

(@) 12
(b) 13
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(c) 17

d 24

5.9 o 3R B AHHTN 2 —x+1=0F

100 | 100
+B
100 I HIF T

o
alOO__ﬁ

e & @
2?2
(a) V3

(b) V2
© 1

1
@ 5

6.7 WIflT 4 3R B ¥9F Hfe &

T sege €, @ (4B - BA) & woH
¥t A - ad & 7

1. zaht faaol wfafear aam afe=
YA §

2. zaht R-faFf  (Non-diagonal)
wfafeat &1 awree = ?

A9 fou T e W owEn W EE SW
&1 999 HifSg ;

(@) Faa1
(b) &4 2

(c) 13K 23
(d) FqT1, 982



1. If @ is a non-real cube root of 1, then

what is the value of 1—(02 ?
0+
(@ 3
(b) 2
(¢) 1
4
@

- 2. What is the number of 6-digit numbers

that can be formed only by using
0,1, 2, 3, 4 and 5 (each once); and
divisible by 6 ?

(a) 96

(b) 120

(c) 192

(d 312

3. What is the binary number equivalent

to decimal number 1011 ?
(a) 1011

(b) 111011

(c) 11111001

(d) 111110011

4. Let A be a matrix of order 3x3 and

|A|=4. If |2adj(34)|=223P, then
what is the value of (a+f)?

(@) 12

(b) 13

(c) 17

d) 24

. If a and B are the distinct roots of

equation x? — x +1 = 0, then what is the

Q! 4 g1O0 ¢
' _ 1o

value of

(@) 3
) 2
(c) 1

1
@ 7

. Let A and B be symmetric matrices

of same order, then which one of
the following is correct regarding
(AB—-BA)?

1. Its diagonal entries are equal. but
nonzero

2. The sum of its non-diagonal
entries is zero

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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7. G WIE 1 TS 9 ASYE 4, B, C
F wed # frafafen w9 | o=
Fifsra

1. AB=AC = B=C,afc AwHMNA
?

2. afg n ferat ot wW e X &
i BX=cx &, @1B=C

Ik Fa F A-an /A wd 28 0

(a) ¥ 1

(b) e 2

(c) 1323t

(d) A1, A& 2

8. s wiiwmw fram x+2y+2=4,
2x+4y+2z=8 AR 3x+6y+3z=10
H1/F

(a) e & R

(b) IAfFa & §

(c) & & TRl ©
(d) T 7 & §

. HF AT AX = B, 3 IEE & GY
3 Wass et &1 uw e ® | wW
i X, 3R X, 58 o B &= €
IR aX, +bX, 1 GASH, AX =B TH
m%s Wambamﬁﬁm%!
@ frafafea & @ F9-w1 faesr w8
|

(@) a=b

() a+b=1
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10.

(c) atb=0
(d a-b=1

0 x-a x-b
0 0 x-c
x+b x+c 1

& Tl T ANTHT TR ?
(@ a+b+c
(b) a-b+c

(c) atb-c

HHIEHT =0

(d a-b-c

11. afE 2-i/3, &t i=+-1 ®, aHiE=o

12.

X+ax+b=0H T& qA & @ (a+b)
A T ?

(a) -11
(b) -3
(c) O
@ 3

R 2= i 1oy 4, @

z T VTR T § 7

T
(a) 3

(b)_s'_

(9 i

(=



7.

9

Consider the following statements in
respect of square matrices 4, B, C each
of same order n:

1. AB=AC = B=C if 4 is non-
singular

2. If BX=CX for every column
matrix X having n rows then
B=C

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

. The system of linear equations

x+2y+z=4, 2x+4y+2z=8 and
3x+6y+3z=10 has

(a) a unique solution
(b) infinite many solutions
(c) no solution

(d) exactly three solutions

Let AX=B be a system of 3 linear
equations with 3-unknowns. Let X
and X, be its two distinct solutions. If
the combination aX;+bX, is a
solution of AX = B; where a, b are real
numbers, then which one of the
following is correct ?

(@ a=b>b
) a+tb=1

10.

11.

12.

() a+tb=0
d a-b=1

What is the sum of the roots of the

0 x-a x-b
0 0 x-c
x+b x+c 1

equation =07?

(@ a+b+c

(b) a-b+c
(c) atb-c
d a-b-c

If 2—i+/3 where i =+/=1 is a root of
the equation x2 + ax + b =0, then what
is the value of (a+b)?

(a) —-11
(®) -3
(c) O
@ 3

O T E
1-i/3

what is the argument of z ?

If where i=+/-1, then

@ 3
®
@ =

@

A - ASGT-B-GNL



13.3f¢ a,b,c APHE

x+1 x+2 x+3
x+2 x+43 x+4
x+a x+b x+3

forees s 8 2

(a) -1
(®) 0
(c) 1
@ 2
14. afg log.a, a* 3R logyx, GP & %, @
x T SR R 7
(a) log,(logya)
(b) logy(log,b)

© log, (IzagiJ a)

(d) log,, (';Oga b)

15.#%2%, 2%, 2"% GP# € a frafafea
T H-91 UF Ger € ?

(@) a, b,c, APH &
(b) a,b,c, GPH §
(c) a, b,c, HPH §
(d) ab, be, ca, AP ¥ ¥

16.TF AP #1 e R GET 9§ AW

%ﬁ?%%lqﬁnﬁiqﬁw_

HUTHE U 8, T n S WH #7182
(@) 5
(b) 6
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17,

18.

19.

() 7
(d) n» Trdifa =& fear s g

k% o quifes W (integral values)
¥ fau wfieRor 2 —dx+ k=0, wEi
k o g 2, % At ww R
QT A SR (0, 5)H € ?

(@ 3

(b) 4

c) S

(d) 6

TE AP #, vsﬁrqax%'a?r(%ﬁ
nﬁmmﬂﬁ%lmmqﬁ
T AT T § ?

@) mx(m+ n)
=1

() mx(m+n)

1-n
© nx(m+ n)
m—1
@ nx(m+n)
1-m
1. 25)! +1,26 & % =g ®
2.(6)!+1,7 ANA &
Iugth FUAl # H-A1 /8 wE R/ 7
(a) &4 1
(b) Fae 2
(c) 13R 23l
(d) IqrT 1,982



13.

14.

15.

16.

If a, b, ¢ are in AP, then what is

x+1 x+2 x+3
x+2 x+3 x+4| equal to ?
x+a x+b x+3 '

(@ -1
(®) 0
() 1
(d 2

If log.a, a* and logyx are in GP, then
what is x equal to ? :

(a) log,(loga)
(b) log(log,b)

(C) loga (Izogb a)

(d logy, (lzoga b)

1
a

If 2%, 27"%, 2% are in GP, then which
one of the following is correct ?

(a) a, b, c are in AP

(b) a, b, c are in GP

(¢) a, b, c are in HP

(d) ab, bc, ca are in AP

The first and the second terms of an
AP are 3 and % respectively. If n™

term is the largest negative term, what
is the value of n ?

(@ S5
(b) 6

17.

18.

19.

(c) 7

(d) n cannot be determined

For how many integral values of %, the
equation x? — 4x + k= 0, where k is an

integer has real roots and both of them
lie in the interval (0, 5) ?

(@ 3
(b) 4
) 3
d) 6
In an AP, the first term is x and tﬁc

sum of the first n terms is zero. What
is the sum of next m terms ?

(@) mx(m+n)
n—1

(b) mx(m+n)
1-n
©) nx(m+n)

m—1

d) nx(m+n)
l-m
Consider the following statements :
1. (25)! + 1 is divisible by 26
2. (6)! + 1 is divisible by 7

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A - ASGT-B-GNL



zo.w&z@maaam%ﬁsj—;;

21.

22.

Y&a: Fftefera €, a1 |z| fras SR
27

(a)

(b)
© 1

d 2

fraft awafes  wead  wtewRe
|x—4|+|x—7| =15 F TT< Fl € ?
(a) e TH

(b) Faa qr

(c) e

(d) s=fEa

T& % f: 4 — B 30 YR qReiya

2 'ﬁ?ﬂx)=§i:;, xed © 1 afe

f ATSBIEE ©, A 4 AR B FFed awER
2?7

(a) 4=R\{-3} 3K B = R\{-2}
(b) 4 =Raﬁw=1e\{—g}
© 4= R\{-3} 3R B = R\{0}

(d) 4=R\{-3} 3R B=R\{2)
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223;

24.

25.

o 3R B fgumedta g 2+ ax+b=0
% i avafas 7w € | o Fruffa =3
% forg Freafafee & @ 9-w1 /3 ==
i /% ?

1. a+p=0, a’+p%=2
2.af%*=-1,a=0

= U T F W N W EE I
g

(a) Fae 1

(b) wad 2

(c) 13R23mMt

(d) FaT 1,982

o[ :og,oxf O —
BEAT 9T 5600 ©, O x HTHE 1 ?
@ 6

(b) 8

() 9

(d 10

Bx—y)*(x+3y)* & wRo § e W
g7

(@ 9

(b) 12

(c) 15

(d) 17



20.

21.

22.

If z is a complex number such that

-1
h is purely imaginary, then what is

|z| equal to ?

N | —

(a)

2
(b) 3
() 1

@) 2

How many real numbers satisfy the
equation |x—4|+|x-7| =15 ?

(a) Only one
(b) Only two
(c) Only three
(d) Infinitely many

A mapping f:4A-—>B defined as

2x+3
x =
/&) 3x+5

then what are 4 and B equal to ?

,x € A. If fis to be onto,

(@) 4=R\{-3} and B = R\(-}}
(b) 4 =R and B =R\{-3}
(c) 4=R\{-3} and B = R\{0}

(d) 4=R\{-3} and B = R\{%}

23.

24,

25.

a and B are distinct real roots of
the quadratic equation x>+ ax+b=0.
Which of the following statements
is/are sufficient to find a ?
1. a+p=0, a’+p2=2
2.-aft=—-1;a="0

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

If the sixth term in the binomial ex-

4 X
pansion of (x‘ 342 Iogmx] is 5600,

then what is the value of x ?
(a) 6
(b) 8
(c) 9

(d 10

How many terms are there in the
expansion of (3x —y)*(x + 3y)* ?

@ 9
(b) 12
© 15
@) 17

A — ASGT-B-GNL



26.p, q, r ¥R s AP 30 woR € 5

p+s=8 IR gr=15 2 | @@
R TR Bt FEAT F i FR TR ?

29.

UM i 955 ‘PERMUTATIONS’
¥ FHEAl H @ x g AR =
‘COMBINATIONS’ & s#=di Y |&T
y ? | Frafafya # a-wmadt € ?

(@ 6
s (@ x=y
(®) y=2
() 4 (c) x=4y
d 3 d) y=4x
27. et e o & foq Feafafem 39, 57w 0, 1, 2, 4, 59, TRy fg R
FoAt R far fifsg 5-3/hra FEaTd S ST € | 50,000

1. Cn,)Tesm g Ak n=2r %

St FEmEt dt wisraarn feat € ?

(a) 20%
2. f(:;:)jlﬁf;%ﬂﬁn=2r—13ﬂ'( o s
e ot -/ W@ B/ © 3%
(a) ¥ 1 = 1_;9,%
(b) ¥ 2
() 13K 23 FR AW A 3 (02) W ¥ foru Fraffea
R R Hifs .
(d I 1,982

TM AT sina 3 cosa FT GM, sinf3 ?;

e m,niﬁﬁﬁﬁm% aﬂ'{sinaaﬂ?cosaWAM,tany%

IR T 60 TR IgHT T R |

(m + n) < AE TR ?

28.

31. cos2 Torh sReR ® 7

(@) (cosa — sina)?

(a) 6

(b) 7 (b) (cosa + sina)?

() 8 () (cosa - sina)’
d (cosvz-—sino:)2

(d 9 (d) >

ASGT-B-GNL - A 10



26.

27.

28.

p, q, r and s are in AP such that
p+s=8 and gr=15. What is the
difference between largest and smallest
numbers ?

(a) 6
®) 5
(c) 4

(d) 3

Consider the following statements
for a fixed natural number 7 :

1. C(n, r) is greatest if n=2r

2. C(n, r) is greatest if n=2r—1 and
n=2r+1

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

m parallel lines cut n parallel lines

giving rise to 60 parallelograms. What

is the value of (m +n)?
@ 6
(®) 7
(c) 8
@ 9

11

29.

30.

31.

Let x be the number of permutations of
the word ‘PERMUTATIONS’ and y be
the number of permutations of the
word ‘COMBINATIONS’. Which one
of the following is correct ?

@ x=y

® r=%

(c) x=4y

(d) y=4x

5-digit numbers are formed using the

digits 0, 1, 2, 4, 5 without repetition.
What is the percentage of numbers
which are greater than 50,000 ?

(a) 20%

(b) 25%

100
© 5

%

Consider the following for the next two .
(02) items that follow :

Let sinf be the GM of sina and cosa; tany
be the AM of sina and cosa.

What is cos2f equal to ?
(@) (cosa — sina)?
(b) (cosa + sina)?
(c) (cosa — sina)?

(cosa —sina)?

(d 5

A — ASGT-B-GNL




32.sec2y MAR FTE ?

3-sin20
5+2sin2a

(a)

5+sin2a
3-sin2a

(b)

3-2sin2ax
4 +sin2a

(©

3—sin2a
4+3sin2c

)

IM AW AT 3 (02) T & forg Fafafaa
q?ﬁ‘l’l'(iﬁﬁ([

10m 3 T& @Y | 20 m &a1 UF A9aU8

@ ® St a| & frelt fag P 9 tan1(0-5) @
H0T HART FAT € | I ARG @ gRT T
fog P srafa w0 2 |

BaR @ F@APH 2 ?, @
frafofes wa+t | faar Hifvo .

LxF YA EHAE, W 1:3 &
T |

2. x &A9gUe & FAE F e B
el ©

I FAAT § HH-T1 /A W R/ 7
(a) a1

(b) Fa 2

(c) 13R 23t

(d) FA1,TE2
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34. Tan6 & GNIfad A |1 ?

(a)

Wi Alw

(b)

L | —

(©)

(d)

-

aﬁaﬁma(oz)uﬁ%mﬁn&fbﬁ
Wﬁiﬂ"ﬁﬁ"{:

& Brs ABC &1 ufmm, Brgm & @it %
sine & AM &1 6 T ® | W el
BC=+33Rca=1%]

35, P & afema wr @ 7
(@) V3+1
(b) V3+2
(c) V3+3
d) 2V3+1

36. frafafaa womt w e 6ifse .
1. ABC awaig fryw 2

2. o & o 4P H

ST FUA § HA-61 /8 WE R/ 7
(a) Fad 1

(b) Fae 2

(c) 13K 23t

(d) AT 1,782



32. What is the value of sec2y?

3-sin2a
5+2sin2a

(a)

5+sin2a
3-sin2a

3-2sin2a
4+sin2¢x

(©)

3—sin2a
4+3sin2o

(d)

Consider the following for the next two
(02) items that follow :

A flagstaff 20 m long standing on a pillar
10 m high subtends an angle tan™'(0-5) at a
point P on the ground. Let 6 be the angle
subtended by the pillar at this point P.

33. If x is the distance of P from bottom of
the pillar, then consider the following
statements :

1. x can take two values which are in
the ratio 1:3

2. x can be equal to height of the
flagstaff

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

13

34. What is a possible value of tan@ ?

(a)

Wi h|w

(b)

(c)

W | =—

@

Consider the following for the next two

(02) items that follow :

The perimeter of a triangle ABC is 6 times
the AM of sine of angles of the triangle.

Further BC=+/3 and CA=1.

35. What is the perimeter of the triangle ?
(zi) N3 +1
(b) V3+2
(c) V3+3
@) 2V3+1

36. Consider the following statements :
1. ABC is right angled triangle

2. The angles of the triangle are in
AP

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — ASGT-B-GNL



AR 3 AT 7Y (02) WAt & forg fefofea
R four Sifeg :

= g
a1 R x= smA-f-smA+l’
sin A
?

el 0< A<

(SR

37. x & AqH A 18 ?
(@ 1
(b) 2
(c) 3
d 4

38. 4 & 6@ 9 W, x &1 AW A ® ?

(@)

Al ol

(®)

(©)

w|y

@ 3
AR A 9T 3 (02) WAt & forg fremforfaa
R far $ifse .
s 4BC &, a*+b%+c* =ac+3bc

39, frst =1 @y & @ 7

(a) FHAETE

(b) wHfgaTE

(c) wawvitg Frogst

(d) oo wfer womofa et

ASGT-B-GNL - A

40. 3% c =8, < Freget w1 dorwer T R 7
(a) 43
(b) 63
(©) 83

d 1243

AR FW AT 9 (02) 9w & oo faferfaa
R fammr Fifa

S f(x)=|x—2|+[3-x|+|4-x]|, &I
xeR'a', Wﬁ?ﬁiﬁlﬁq

41. x & 5 M R $a9 AW 99 9™
FRar € ?

(@) 2
(b) 3
(c) 4

(d 0

42, o H FAGH A T8 ?
(a) 2
(b) 3
(c) 4

(d o



Consider the following for the next two 40. If ¢=8, what is the area of the

(02) items that follow : triangle ?
. :
sin“A+sinA+1 n
Let x= proigy where 0<A55' (3) 4\/5
37. What is the minimum value of x ? (®) 6\6
g (c) 83
(b) 2
) 3 @ 1243
d) 4

Consider the following for the next two
38. At what value of 4 does x attain the (02) items that follow :

inimum value ? : !
i Consider the function

n f(x)=|x-2|+|3-x|+[4—x|, wherex € R.
@ %
% 41. At what value of x does the function
(b) % attain minimum value ?
n (@) 2
© 3
() 3
n
@ 2 (c) 4
Consider the following for the next two (d 0
(02) items that follow :
In the triangle 4BC, 42. What is the minimum value of the
a?+b*+c* = ac+3bc function ?
39. What is the nature of the triangle ? (@ 2
(a) Equilateral ®) 3
(b) Isosceles
: 1 (©) 4
(c) Right angled triangle
(d) Scalene but not right angled (d o

15 A - ASGT-B-GNL



AR A AT o (02) W & fog Feafafea
R R fifva

AT S=01+11+21+31+4! +. . ..+ 100!

R fER Hifs .

43.3f¢ 9w s %t 8 A fawfom fm sy,
Al ATHS FAT BRI ?
(@) 0
(®) 1
() 2
(d) T =& forn s were

44. afc am s Ht 60 ¥ fafa fern s,
T NE T B ?
(@) 1
() 3
(c) 17
(d) 34

AR W 9T o (02) WAt & o fafofaa
Wﬁﬁ'l’(iﬁﬁl'q

st POR #®, P wa® w91 @1 ® @K
cosP=1 % | Ta% afafes Prsw & sicda
g9 ST PO, QR ¥R RP & TN
N, L 3R MR 38 &R &3t a=ar § &6 Py,
QL 3R RM &\ et F9N: n, n+2, n+4
R, Tl n TF T §E ¢ |

45.n S HF T © ?
(@) 4

(b) 6
(c) 8

@ 10

ASGT-B-GNL - A
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46. T8 B o Y Fq=rg ferat # 7
(@) 12
(b)

(©)

14

16

(d) 18

A 3 AT 3T (02) WA & forw frfafaa
R fmr $ifsa .
e g &

sinx +cosx + tanx +cot x +secx +cosecx =7

47. feu T whew ® o wfiexo &
TG (reduced) feram <im gt € 7

(a) sin®2x-44sin2x+36=0
(b) sin?2x+44sin2x—36=0
(c) sin?2x-22sin2x+18=0

(d) sin?2x+22sin2x-18=0

48. af¢ sin2x=a-b\c ®, Vel a AR b
gAY AT € 3R ¢ UF FAAST TEAT
eMa-—b+2cHAA TG ?

(@ 0
(b) 14
) 21

(d) 28



Consider the following for the next two
(02) items that follow :

Consider the sum
S=01+11+2!1+3'+4!+, ...+ 100!
43. If the sum S is divided by 8, what
is the remainder ?
(a) 0
(b) 1
() 2
(d) Cannot be determined

44. If the sum S is divided by 60, what is
the remainder ?

(@ 1

(b) 3

(c): 17

(d) 34
Consider the following for the next two
(02) items that follow :

In a triangle POR, P is the largest angle

and cosP = % Further the in-circle of the

triangle touches the sides PO, OR and RP
at N, L and M respectively such that the
lengths PN, QL and RM are n, n+2, n+4
respectively where n is an integer.

45. What is the value of n ?
(a) 4
(b) 6
(c) 8
(d) 10

46. What is the length of the smallest
side ?

(a) 12
(b) 14
(c) 16

(d) 18

Consider the following for the next two
(02) items that follow :

Given that
sinx +cosx +tanx + cotx +secx +cosecx =7

47. The given equation can be reduced to
(a) sin®2x-44sin2x+36=0
(b) sin®2x+44sin2x-36=0
(c) sin?2x-22sin2x+18=0

(d) sin®2x+22sin2x-18=0

48. If sin2x=a-bc, where a and b
are natural numbers and c¢ is prime
number, then what is the wvalue of
a-b+2c?

@ 0
(b) 14
(c) 21
(d) 28
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AW AW AT QA (02) WA F for Fraffaa
‘Rﬁﬁlﬂﬁﬁm

& feardta aefiemor saver foar mar @
(3+2\E)32—(4+2\/§)x+(8+4\/5)=0

49. TR F TSl H HM FT 8 ?
@ 2
(b) 4
© 2V2
d) 2v3

50. G¥iERW & AT 1 GM FT© ?
(a) «/5(«13—«/5-»\/5-1)
®) V2(V6+3-12-1)
© (Vo-B++2-1)
@ (Vo+3++2-1)

AW AW AT T (02) WAt F fore Frafrfaa
R famr i . '

7™ i

a b acd+b
b c ba+c
ac+b ba+c 0

Afa, b, ¢, @)=

51.3f% A(a, b, ¢, @)=0 Tt TAF a> 0
% forg frferfaa & S9-ar we @ 2

(@) a,b,cAPH}
-(b) a,b,cGPﬁ‘%

ASGT-B-GNL - A

(c) a,2b,c APT®
(d) a,2b,cGP A&

52. 9 A(7, 4, 2, 0)=0 @ o Frfafe
# -8 T GG G (root) B ?

(@ 7x*+4x+2=0

(b) 7x*-4x+2=0

(©) 7x*+8x+2=0

(d) 7x*-8x+2=0
AW W AT < (02) WAt & fore i
R o #iftg .
fear & 6 m(6) = cot?0 + ntan?6 + 2n
el n T fga gTers awafes e £
53. m(0) 1 JeAaH A T § ?

(@) n

(b) 2n
(c) 3n
(d) 4n
54. forw vl & sicfa m o1 W =gmaw
' ?
-(a) n = tan?0
(b) n = cot?
(¢) n = sin?0

(d) n = cos?0



Consider the following for the next two
(02) items that follow :

A quadratic equation is given by

(3+2\/§)x2—(4+2\/§)x+(8+4«/§)=0

49. What is the HM of the roots of the

50.

equation ?
(@ 2
(b) 4

() 242
d 243

What is the GM of the roots of the
equation ?

@ V2(V6-+3++2-1)
®) V2(V6+3-+2-1)
© (V6-+3+42-1)
@ (Vo+3+42-1)

Consider the following for the next two
(02) items that follow :

Let A(a, b, c, @) =

51.

a b ac+b
b c bo+c
ac+b bo+c 0

If A(a, b, ¢, @)=0 for every a > 0,
then which one of the following is
correct ?

(a) a, b, c are in AP
(b) a, b, c are in GP

19

(c) a, 2b, c are in AP

(d) a, 2b, c are in GP

52. If A(7, 4, 2, a)=0, then a is a root
of which one of the following
equations ?

(@) 7x%+4x+2=0
(b) 7x2-4x+2=0
(c) 7x*+8x+2=0

(d) 7x*-8x+2=0
Consider the following for the next two
(02) items that follow :

Given that m(0)= cot?0 + n’tan®6 + 2n,
where 7 is a fixed positive real number.

53. What is the least value of m(6)?
(a) n |
(b) 2n
(¢) 3n
(d) 4n

54. Under what condition does m attain the

least value ?

(a) n = tan?6
(b) n = cot?@
(c) n=sin®6
(d) n = cos?6
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AR A ATl oY (02) WAt & fora Feafoafea
Wﬁiﬂﬁﬁq

@t x=0, y=0, x+y=1 3R 6x+y=3
ERGEGEER R

55. fau-T@-fag (origin) & 9@ o
Tt &1 wreeor @ @ 2

@@ 3x+y=0
(b) 2x+3y=0
() 3x-2y=0

@ 3x+2y=0

56. gEr oot o wrefiemor = @ 2
@ x+2y-1=0
) x-2-1=0
) 2x+y+1=0

d 2x+y-1=0

AW 3 4T Q1 (02) WAl & forg frmfafea
‘-'Rﬁi’l(aﬁ'ﬁ'q

Qg 2 +4y2 =1 R FE fog Px, y) R |
A ifr £, F ddaa & B § |

57. PE + PF foweh sRsR & 7
(@) 1
(b) 2
(c) 3
d) 4

ASGT-B-GNL - A

TR e o faget # Am-wr defga &
i (latus rectum) | & ?

(a) aet 13K 2

(b) &ae 2 3K 3

(c) Fae 13K 3

(d 1,23K 3

W AW AT 31 (02) WAt & fog faafafea
Wﬁ?l’('cﬁlﬁ'q

[WTy=x 99 (x— a)’ +1°=a® I Q G

59. @S & SAFA T ¢ ?

(m-2)a?
4

(@)

(r—1)a>
4

(b)

(r-2)a?

(©) >

(m—1)a?
2

(d)



Consider the following for the next two
(02) items that follow :

A quadrilateral is formed by the lines
x=0,y=0,x+y=1and 6x +y=3.

55. What is the equation of diagonal
through origin ?

(@ 3x+y=0
(®) 2x+3y=0
() 3x-2y=0

d 3x+2y=0

56. What is the equation of other diago-
nal ?

(@ x+2y-1=0
) x-2y-1=0
) x+y+1=0
d 2x+y-1=0

Consider the following for the next two
(02) items that follow :

P(x,y) is any point on the ellipse
x*+4y*=1. Let E, F be the foci of the
ellipse.

57. What is PE + PF equal to ?
(a) 1
(b) 2
() 3
(d) 4

58. Consider the following points :
(
% 4
\ 2
(V3 1]

2R

(ﬁ _IJ

2 -

\

Which of the above points lie on latus

rectum of ellipse ?
(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only

(d 1,2and 3

Consider the following for the next two

(02) items that follow :

The line y = x partitions the circle

(x—a)? +y? =a? in two segments.

59. What is the area of minor segment ?

(m-2)a?

(a) 2

) (r—1)a*

(b 2

(r-2)a*

(c) >

(- 1)a?

oy e
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60. TGS T SATFA T © ?

2
@ & —4 2)a
(37 +2)a?

(b) a

(37 -2)a?
2

(©)

(37 +2)a?

(@ 5

T ST AR 2 (02) w3 fore P
‘Rﬁﬁm?ﬁlﬁﬂl

"\ e A(1, -1, 2) R BER, 1, -1)
e x2+y2+22+2ux+2w+2m-1=0
& @ & i fog €

61. u+v+wfras TR § 7
(@) -2
(b) -1
(c) 1
d) 2

62.7f¢ P(x, y, z) Mo W =¢ fag ¢
PA? + PB? forash SRR ® 7
@ 15 |
(b) 14
(© 13
d) 65

ASGT-B-GNL - A

22

SR 3 9T 3 (02) WAt & fore Frafafaa
Wﬁ?ﬂiﬁﬁq

3 W@Et | fEr fifg e g s
(2,-1,2)3ﬂt(k,3,5)'§lifmm%

R MG € |

63. k & HF W1 ?
(@) 4
(b) 2
() 1
(d) -1

64. 98 @1 & fogp s w1 €, < qEt
@t W R ?
(@) (1,2, 10)
(b) (-1, -2, 10)
(¢) (11, 12, -10)
d (11, 2, -10)

FRY 3T AT 3 (02) et F fore PrafuRea
R fomr $ifso .

AM T 7 =37+3j+3k IR C=j-%
R WA A b = wER & R 2.5 =27
3R axb =9 % |

65. b e SRR & 7
(@) 3i+4j+2k
(b) 51+2j+2k
(c) 5i-2j+6k

(d) 371+3/+4k



60. What is the area of major segment ?

(3 -2)a*
e e
®) (3r+2)a?

4
(3 -2)a?

B

(37 +2)a>

(d) 5

Consider the following for the next two
(02) items that follow :

Let A(1, -1, 2) and B(2, 1, -1) be the end
points of the diameter of the sphere
2+ y2 + 22 4 2ux + 2wy +2wz—1=0.

61.

62.

What is u + v +w equal to ?
(@) -2

(b) -1

() 1

@ 2

If P(x, y, z) is any point on the sphere,
then what is P42+ PB? equal to ?

(a) 15
(b) 14
(c) 13

@ 65

Consider the following for the next two
(02) items that follow :

Consider two lines whose direction ratios
are (2, -1, 2) and (k, 3, 5). They are inclined

/1
at an angle —.
g 4

63. What is the value of £ ?
(a) 4
(b) 2
() 1
@ -1

64. What are the direction ratios of a line
which is perpendicular to both the
lines ?

@ (1,2,10)

(b) (-1, -2, 10)
(c) (11, 12, -10)
(d (11, 2,-10)

Consider the following for the next two
(02) items that follow :

Let 3=3?+3f+3]? and ?=f—§. Let b
- = —

be such that E’-E’=27 and axb =9c
65. What is b equal to ?

(@) 3i+47+2k

(b) Si+2j+2k

(c) 5i—2j+6k

(d) 37+3/+4k
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66. (+b) IR T F AT w1 R T ? e

81
(@) =
2 | @ >
T
(b) 5 .
AR A e Y (02) et F forg ol
i R ferR $Hifs .
(c) 2
<1 forgatt 4 otk B fRufa wfewr wonar: 71—/
@ — iR j+k €

FR 3 T A (02) W F fore Frafafaa 69. frfafaa fagat w famr fift
Wﬁiﬂzﬁﬁlﬂ,

LA 1)
mFﬁﬁﬂQﬂ?'ﬂﬁQTE)=4?—8f+I?, XV X 2. (-1, 3,2)
et & eTHe fewnstt % wa FwAE: o, B, y W T
IV T © | . 3,62 5,3y
67. cosa FFE¥F TR & 7 ST fogett % 18 fag 43k B
s : Sre ATt Y w g § 7
@ 3 (a) a9 1 3R 2
4
® 3 (b) Fae 23R 3
(c) Sae 18R 3
5
(© 9
(d 1,23R3
2
@ 3 91
70. AB < qfEmor T € ?
68. cos2f + cos2y Toraes TR ® 7 (@ 2
@ 32 (b) 3
R
81
© 6
_l6 :
® ~5 @ 3
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: e
66. What is the angle between (a +5) and © 16
2, 81
n 32
@ = ==
2 @ 3
n
® 3 Consider the following for the next two
(02) items that follow :
(c) % The position vectors of two points 4 and B
are i—j and _}“+£r respectively.
z
(@) 6 69. Consider the following points :
Consider the following for the next two L 1,3, 1)

(02) items that follow :

2.G1:.3.2)
Let a vector 3=4f—8}'\+§ make angles
a, B, y with the positive directions of 3.(2,5,3)

x, ¥, z axes respectively.
* i ’ Which of the above points lie on the

67. What is cosa equal to ? line joining 4 and B?
1 (a) 1 and 2 only
@ 3
(b) 2 and 3 only
4
(b) 9 (c) 1 and 3 only
5 (d) 1,2 and 3
© 3
2 70. What is the magnitude of 4B ?
@ 3
(@) 2
68. What is cos2 + cos2y equal to ?
(b) 3
32
@ —31
(© 6
16
& @ 3
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I W T A (03) Wi ¥ faw
frfife W e Hifrg -

AW AT f(x) = Pe*+ 0e** + Re, wed
P, O, R ar&fys wEATd € | W% sfafies

£©)=6, f(n3)=2823K [

. f(dx=11

T.OFAARTE ?
(@ 1
(b) 2
(c) 3

(d) 4

TZ.REAA L ?
(@ 1
(b) 2
(© 3

(@ 4

73. £1(0) foress s @ 2
(a) 18
(b) 16
(¢ 15

@) 14

ASGT-B-GNL - A

AW 3 9 3 (02) WA % forw Frmfafaa
Wﬁiﬁiﬁﬁq:

M i £ Y dEwe weRor € S
TH-FA )’ =2ex+2cc W frefim wwan
?, V8l ¢ U&F HATHS WTET § |

74. T8 FHA FHIG A Ffe (order) FT
g7
(a) 1
(b) 2
(© 3
d 4

75. T8 e G Y 9T (degree) FT
g7
(@) 2
(®) 3
(c) 4
(@ = F I @ R

N FW AN AW (03) Wt F fru
frrafafea w faer $ifto .

Cosx. riio]
2sinx x? 2x
|51y . ik 2 |

A HT f(x) =

76. £(0) forass saR ® 2
(@) -1
(® 0
() 1
@ 2

26



Consider the following for the next three
(03) items that follow :

Let f(x)= Pe*+Qe**+ Re>*, where P, Q,
R are real numb?rg Further f(0)=6,
f(In3) = 282 and jo" f(x)dx=11

71.

72.

73.

What is the value of O ?
(@) 1
(®) 2
(¢ 3

d) 4

What is the value of R ?
(a) 1
(®) 2
(c) 3

d 4

What is £'(0) equal to ?
(@) 18
(b) 16
(c) 15

d) 14

27

Consider the following for the next two
(02) items that follow :

Suppose E is the differential equation repre-
senting family of curves 2 =2cx+2¢\c
where ¢ is a positive parameter.

74. What is the order of the differential
equation ?

(@ 1
(b) 2
(c) 3
(d 4

75. What is the degree of the differential
equation ?

(a) 2
(b) 3
(c) 4

(d) Degree does not exist

Consider the following for the next three
(03) items that follow :

cosx x 1
2sinx x° 2x
AN %L X =l

Let f(x)=

76. What is £(0) equal to ?
@ -1
() 0
(© 1
d) 2
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7. tim £ R wra 2 7 80. 7 %) fres w2 7

(a) -1 e
(a) 2
(b 0
(b) -1
(© 1 () 1
1
d) 2 @ 7
7s.;i_x)%f:;)ﬁsa%aw%? W IR AW AW (03) W F R
Frafafes = fer St
(a) -1
W
(b) 0 b I‘_.L P &
2| T 1 .
(© 1 = 0 1+sin2xdx%
d) 2 L+l
5 81. Iiifi AR ?
IR W A Y (02) W F Forg Prafafaa @) 1
Wﬁ?‘l’(ﬁ&l’({ ®) 7
A it £ (x)=sin[7r2]x+cos[——frz]x<ﬂ'5"l 0y
[.] TF WewH QUi el € |
n+1
o Soset
79. f[-’zfjﬁm%m% ?
82. 81 AR FT§ ?
(@) -1
(@ =
®) 0 ®)
(C) 1 (c) ’r3
@ 2 @ =*
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77. What is lim L) equal to ?
x>0 X
(@) -1
(b) O
(© 1

(d 2

78. What is lim £ equal to ?
x—0 xz
@) -1
(b) 0
(c) 1

@) 2

Consider the following for the next two

(02) items that follow :

Let f(x)= sin[n‘z]x + cos[-:r:Z Jx where [.]

is a greatest ‘integer function
79. What is f [-’25) equal to ?
(a) -1
(b) O

© 1

(d) 2

80. What is f(%] equal to ?

1
(a) 2
(b) -1

(c) 1
1
(d) NGl

Consider the following for the next three
(03) items that follow :

Let

81.

82.

f—r X i and
} 01+coszx

I J.” T i
2“01+si112‘.:r

11‘1'12

What is the value of 7 —; " 7
1—42

(@ 1
) =

(c) n’

T+1
@ =

What is the value of 877 ?
(@ w
®) #*
() =
(d) =*

A — ASGT-B-GNL



83. LA AR TG ? IR AW T dF (03) Wl F fam

frfafas = fmr Hifva .
n
@ 7 A G f(x) = |Inx| x#1 %
n 86. x=0-5 U f(x) T Aaherol T ¢ ?
() PN/
(a) -2
3
-1
(c) m (b)
(c)y 1
T
(d W/ d 2

I I A A (02) W F Ry Prefefe 57X~ 2 TS H I R ?
Wﬁ?ﬂzﬁﬁlﬂ i

: (a) 3
TrﬁFﬂﬁTQl=I %dx, a<b
g (b) -1
84, | e SRR e v a<0<h B ? 1
(@ a+b © 3
(b) a-b d) 2
B 88. fof (x) T FaFAT TN &, &l 1 <x <2
: ?
@ —(“;b) s
1
(a) o
85. | fras SR e 9 d a<bh<0® ?
1
@ atd (b) xinx
(b) a-b i
(c) b-a 9 _7'-’_;
(a+b) Lad
@ 2 d) xlnx
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83. What is the value of , ?

Consider the following for the next two

b/

(a) /1

b/

(b)g;

3n

() PN

¥/
@ 2%

(02) items that follow :

b
Let:=ja'%|dx, a<b

84. What is / equal to when a<0<5b?

85.

(@) a+b
(b) a-b

(c) b-a

(a+b)

@ =

What is / equal to when a<b<07?

(@ a+b

(b) a-b

(c) b—a

(a+b)
2

(d)

31

Let f(x)=|lnx

Consider the following for the next three
(03) items that follow :

U]

6. What is the derivative of f(x) at

x=057?
@ -2
(b) -1
© 1

@ 2.

7. What is the derivative of f(x) atx=2?

e |
(a 2
() -1
o
© 3

d 2

88. What is the derivative of fof(x), where

1<x<27?

ge! 15
Inx

(a)

1
(b) xinx

(€)%=

Inx

@ -

xinx
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A W A Y (02) WA & fore Frafofea
‘Rﬁ'ﬂﬂ'ﬂﬁlﬁq

x+6, x<1

AW | £(x)={px+q, 1<x<2
5x, x=2

AR f(x) Haa & |
89. p & WA HTE ?
@ 2
(®) 3
() 4
@ 5

90.g FAFM FTE ?
(a) 2
(b) 3
(© 4
@ 5

91. frrferfim et w famme iforg :
1. f(x) = Inx, (0, o) & Tt B
2. g(x)= e*+e”}, (0, o) & BrET B
I FAA A F w1/ we R/ 7
(a) Fad 1
(b) Fad 2
() 13K 23t
(d) ?r??rll,aé‘rz

ASGT-B-GNL - A
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92.

93.

94,

9s.

sin?x FT cos?x & HeW W aderst T
®7?

(a) -1

() 1

(c) sin2x

(d) cos2x

m<0 @fea m & fom a9 & ‘ﬁ-l'q
Taat y=x, y=mx 3R x=2 TR
IReg FAHT 3 F T B ?

cosec(x°) & HTFAT T & ?
(a) —cosec(x°) cot(x°)

T o o
(b) —%cosec(x ) cot(x°)

(©) l—gacosec(xc') cot (x°)

@ —-l-;%cmec(x) cot (x)

FaHA  FHIROT (?—Jz-xd—yw El
dx dx

TR

(@ y=2x

(b) y=2x+4

(©) y=x2-1

_(x%-2)
(d y= 5




Consider the following for the next two
(02) items that follow :

x+6, x=<1
Let f(x)=4px+gq, 1<x<2
5x, x=2

and f(x) is continuous
89. What is the value of p ?
(a) 2
(b) 3
(c) 4
d 5

90. What is the value of g ?
(@) 2
(b) 3
(c) 4
@ 5

91. Consider the following statements :
1. f(x) = Inx is increasing in (0, o)
1
2. g(x) = e*+e* is decreasing in

(0, )

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

33

2. What is the derivative of sin’x with

93.

94.

9s.

respect to cos®x ?
@ -1

(b) 1

(c) sin2x

(d) cos2x

For what value of m with m <0, is the
area bounded by the lines y =x, y = mx
and x=2 equal to 3 ?

@ -3
(b) -1
3
G
(d) -2
What is the derivative of cosec(x®) ?

(a) —cosec(x®) cot(x°)

(b) —1% cosec(x°) cot (x°)

(c) Fcosec (x°) cot (x°) -

(d) -l%cosec (x) cot(x)

A solution of the differential equation

2
(d_y) —xﬂ=0 is
dx dx

(@) y=2
(b) y=2x+4
© y=x-1

(x*-2)

@ y= >
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96.

97.

e fix)=x2+2 IR gx)=2x-3
®, @ (R)(1) Forwreh s R 7

(@ 3
b) 1
(c) 2
(d -3
W f(x)=x+|x| ¥ YE (range)

T R ? W@l W # Wid (Domain)
qredfas T w1 qgeag § ?

@) (0, )
(b) [0, )

. (C) (—CO, m)

98.

99.

@ [1, »)

R fx)=x(@x2-3) ®, @ f(sinh)
foraes R R 7

(a) —sin36

(b) —cos36

(c) sin36

(d) —sin46

lim =% fah s 2 ?
x—pslx_sl

(@ -1
() 0
(c) 1
(d) ®rm w1 sifer @ R

ASGT-B-GNL - A
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100. limZ

S|

feraes s B 7

(@ -1
(®) -3
(c) 3
(d) ¥ = sfer wE @

101. 979 V&I & HIEw AR WEROT AN

14 3R 1328 | 99 # ¥ 99 J=wr
11,16 3R 208 | I A V=T F]AT E ?

(a) 8 3R 15
®) 93K 14
(c) 10 3R 13
@) 113K 12

102. 7H #ifIT 4 3R B 9 @ad "eamd 3@

TR € &
P(A)=07, P(B)=k, P(AUB)=08
RlkFAaa FT 8 7

5
(a) 7

(b)

B N

(©)

SIS

1
@ 5



96.

97.

98.

99.

If f(x)=x*+2 and g(x) =2x-3, then
what is (fg)(1) equal to ?

(@ 3
(b) 1
(© -2

(d -3

What is the range of the function -

f(x) =x + |x| if the domain is the set of
real numbers ?

(@) (0, »)
(b) [0, )
(©) (-, )
(d) [1, @)

If f(x)=x(4x*-3), then what is
f(sin@) equal to ?

(a)
(b)
(©)
(d)

-sin36
—cos30
sin36

—sin46

What is lim >—%

ual to ?
x5 |x 5| b

(a) -1
(®) 0
i) 1

(d) Limit does not exist

35

100. What is lim =

101.

]

equal to ?
=l 1

(a)
(b)
(c) 3
(d)

Limit does not exist

The mean and variance of five obser-
vations are 14 and 13-2 respectively.
Three of the five observations are 11,
16 and 20. What are the other two
observations ?

(a) 8 and 15

(b) 9 and 14

102.

(c) 10 and 13

(d) 11 and 12

Let A and B be two independent events
such that

P(A)=07, P(B)=k, P(AUB)=08.
What is the value of k£ ?

5
(a) 7

~ | &

(b)

(c)

<N

(@

~3 | -
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103.

104.

10S.

T g e & el A (head)
aﬁaﬁmﬁaﬁr%%,triamm

T ® | T 9@ Far wiikear € R
g § 9K B A 9E (tail) 1T AR
Ja% =g faa sy ?

81

@ 3512

81

®) 1024

81

© 2%

27
@ T2z
w fmw w wer aftma € 6 ol
@ (head) ™ it GHEAT 9T (tail) TR
& g ¥ for ® ) R ¥ 9w
WA SorEl # g o e s f
a1 wrlehar € ?

81

(@) E

21

0

27

© 25

S
256

A W X 3R ¥ @ agfed W
&R € & X+ y=100 ® | a} wr=
n =100 3R p = $ wfeq x fiug siew @
HAET FAT ©, AT Y T TG T ?

(d)

ASGT-B-GNL - A
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106.

107.

108.

(a) 1
1
(b) 3
(c) 16
1
(d) P

"T&x+4y+1=03ﬂi4x+9y+7=0
A A @] E A W y=-3 & @
xTAF TR ?

(a) -13

(b) -5

() 5

@ 7

T& gd 9% (Pie Chart) & IR frsw
G2 (AFRT) & FRT R p, g, r AR s
(et #) @& 9p=3¢ = 2r=65 A
I A & | 4p—g 1 AW F1 8 ?
(@) 12

(b) 24

(c) 30

(d) 36

4,1,4,3,6,2,1,3,4,5, 1, 6 ¥& 12
ITET TR 1T ek 9 &6 qRom € |
afe m 3R M FAN: gE Bre 8 Negvit
IR TR oS 4 Ve & WieA §, ar
(2m + M) e s & 7

(a) 10

(b) 12

(c) 17

(d 21



103.

104.

105.

A biased coin with the probability of
getting head equal to 1"- is tossed five
times. What is the probability of

getting tail in all the first four tosses
followed by head ?

81
@ 55

81

®) 1024

81
o) el
©) 256

27

(d) 1024

A coin is biased so that heads comes
up thrice as likely as tails. In four
independent tosses of the coin, what is

probability of getting exactly three
heads ?

81
a —
(@) 256

27
(b) @

27
o) T
® 256

(@ 256

Let X and Y be two random variables
such that X+ Y=100. If X follows

Binomial distribution with parameters

n=100 and p = %, what is the variance
of Y?

(@) 1
(b)

(c) 16

@)=

106. If two lines of regression are
x+4y+1=0 and 4x+9+7=0,
then what is the value of x when
y=-37?

(a) -13
(b) -5
() 5
@ 7
107. The central angles p, g, r and s
(in degrees) of four sectors in a

Pie Chart satisfy the relation 9p = 3g =
2r=6s. What is the value of 4p—¢q ?

(a) 12
(b) 24
(c) 30
(d) 36

108. The observations 4, 1, 4, 3, 6, 2, 1,
3,4, 5, 1, 6 are outputs of 12 dices
thrown simultaneously. If m and M are
means of lowest 8 observations and

highest 4 observations respectively,
then what is (2m + M) equal to ?

(@ 10
(b) 12
(e 17
(d) 21

37 A — ASGT-B-GNL



109. % femR o1 w==g # Faw @ fig

110.

111.

LDIAR G,2)T 1A yH xR
THTHAY @1 4T Bl ?

(@ x-4y+5=0
(b) 3x+2y-1=0
(c) x+4+1=0
(d) 5x—4y+1=0

TS 9 H 10 IR IS A@r T AR

1,2,1,1,2,1,4,6,5,4

T WER W 3T (data) T g T
' ?

(@ 6
(b) 4
(© 2
@ 1
frafafes seRar e w fEr
Hifere

x 1 2 3 5

L T gl e i SST I

s &t wifeye & 7 w R ?
(a) 1
(b) 2
(c) 3
d) 35

ASGT-B-GNL - A
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112.

113.

114.

Qe -1, 14,3, 8 12,17/ 19, 9. 11
% forg, afe Maeer 5 et & wrfere
T 3R N afad o= deot f mfere
g, ANAM-NF AR TR ?

(@ 7

(b) 4

(c) 1

(d o0

#ﬁﬁﬁﬁqﬁﬁﬁﬁHSP=4Q=-§
¥ fm p, 0, R wAW: wiem, @S
¥R wgaw H frefm &= €1 @

P+Q
<l HIF =1 ?
2P+07R o

4
12

(@

1
g

(©

O N

—

(d)

HeATat 1,2,22,23, ..., 2%, & UK
e G B, @ 1+ 2log,G & WA FT
g2

(@) 1

() 4

(¢) n—1

@) n



109.

110.

111.

A bivariate data set contains only two
points (-1, 1) and (3, 2). What will be
the line of regression of y on x ?

(a) x—4y+5=0
(b) 3x+2y-1=0
(c) x+4y+1=0
(d 5x—4y+1=0

A die is thrown 10 times and obtained
the following outputs :

1,21, 1,2,1,4,6, 5,4

What will be the mode of data so
obtained ?

(a) 6
(b) 4
(c) 2
d) 1
Consider the following frequency
distribution :

x 1 2 3 5
TR T

What is the value of median of the
distribution ?

(@ 1
(b) 2
(c) 3
(d) 35

39

112.

113.

114.

For data -1, 1, 4, 3, 8, 12, 17, 19, 9,
11; if M is the median of first 5
observations and N is the median of

last five observations, then what is
the value of 4M - N ?

@ 7
(b) 4
(c) 1
@ 0

Let P, O, R represent mean, median
and mode. If for some distribution

R B
5P=40 2,thenw is 5P107R
equal to ?

1

@ 3

(b)

~q |-

(c)

oN

(d

B -

If G is the geometric mean of numbers
1,2,22 23 ...,2"%!, then what is the
value of 1+ 2log,G ?

@ 1
(b) 4
©) n-1
@) n
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115. afe "@&meit 1, 2, 22, 23, ..., 2%, & 118. 1 9@ $F o € | = wifear € fe

ztr:naimmfl%?hnmﬁm%aw g3t W & 3 % OIS AT ?
; 1
1 (a) —
(@ 2- 9
2n+l
1 1
) 2onsi ® g
1 1
() 2+2”._1 (c) 27
1 1
8 2= 1
d 2 > @ 3

ll6.HﬁFﬁﬁqﬁH‘Uﬁx1,x2,x3,...x,,'ﬁ

fora p, e @ K g R 2 | 119. F1 Wiywar € f6 fegm & w89 &

- 5 @R & ?
aH T S =3" (2x-a)® &}, S @) 1 n
A AH BRI S g SRR B
@) P ®
o 4
) -
() 20 7
@ R 2
(d) 7

117. T & % 3 o oK 2 el ) €, g
AT MR RE NI 120 el 50 et et # A wH o

q@aﬁ%ﬁﬂiﬂﬁi'@’(aﬁﬁ?@ﬁm : AT
o & ok AR R & & o ol i ol
Forarreft T 2 | e 2 i e i n+-<50 7 ?
WF\T? 23

6 (a) 55-
2 ? 47

33 ()=
® > 50

3 24
(C) -13 (C) 25

1 : 49
@ = @ =

ASGT-B-GNL - A 40



115.

116.

117.

If H is the harmonic mean of numbers
1,2, 2% 2% ...,2" then what is
n/H equal to ?

1

(aJ 2-25+l

1
2R—]

(b) 2-

() 2+

2H—1

1
(@ 2—2—,,

Let P be the median, O be the mean
and R be the mode of observations

X1sX25 X35 - - - Xpe LetS= 2:;1 (le- = 0)2.

S takes minimum value, when a is
equal to

() P

Q
®) 3

(c) 20
(d R

One bag contains 3 white and 2 black
balls, another bag contains 2 white
and 3 black balls. Two balls are

drawn from the first bag and put it

into the second bag and then a ball is
drawn from the second bag. What is
the probability that it is white ?

6

(@) ;
33
70

3

10

(®)

(©)

(d)

41

118.

119.

120.

Three dice are thrown. What is the
probability that each face shows only
multiples of 3 ?

(@ -

®) 73

1

(c) 57
1
(d) 3

What is the probability that the month
of December has 5 Sundays ?

@) 1
(b)

(c)

(d)

NN glw B

A natural number » is chosen from the
first 50 natural numbers. What is the
50

probability that n + s 507
23
25
47
50
4
25
bcd
50

(a)

(b)

(c)

(d

A — ASGT-B-GNL
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question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.
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